Enrollment No

Diploma in Engineering (Polytechnic)
Sixth Semester Main Examination, June-2021
Consumer Electronics [ECD601T]
Branch-ETC

Time: 3:00 Hrs Max Marks 70

Note :

e :

Q.1
()

(i)

(iii)

(iv)

(v)

Q.2

Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

faemeft yequa R §® fad & | yom yea ga o3 AFEr 2
9E H. 2 9 8 a@ | fHE uig &1 Swx I Afard 2

Multiple choice Question / axjfs u%= [2x5=10] Marks

The velocity at which the stylus of magnetic-recording heads vibrates

T8 I R R gEara ReifET gt 31 el S ol o—

(@) ) is directly proportional to the recording signal strength / R&if$w Rreer @1 wifaa

% A1 SruIfe 2 |

(b) is exponentially related to the recording signal strength / st & ReaifET Rivear o

wfod & Hafda 2

(c) is inversely proportional to the recording signal strength / RaifET Rrear o ofe

o U sguifas 21

%d) is not related to the recording signal strength / R&ifET Rrwier @ drea & |eea a1
|

Before recording, bass signal voltages from the recording amplifier are
RapffE & ugel, R THwRR & 99 RFidl dleew © —

(a) attenuated / @9

(b) boosted / agrn

(c) neither (@) nor (b) /AT TR T & &

(d) All of the above / SwRra |+

Dual systems using twin direct radiators are available as-

feam SRRae TSR &1 IUINT HI dTell Qe Tolell & ©U H IyaTel g—
(@) Two completely separate units / &1 g TRE | T SHIAT

(b) An integral unit / v& sif=1 s

(c) Either (a) or (b) /=@ ar @) = (&)

(d) Both (a) and (b) / g+ @) 3R (&)

Crossover networks means-

PGSR qcTd & —

(a) Extend the frequency range / wiediy 351 &1 foeR &
(b) Compress the frequency range / smgfy ¥o1 &1 ddifed &
(c) Reduce distortion / fawfr @1 &9 &= 4

(d) Increase distortion / fapfa & gfg &

Aspect ratios of 4:3 are -

4:3 & IrguTd -

(a) Most pleasing to the eye/ @1 SaTeT 3@ &1 WAl &

(b) Least pleasing to the eye/ & &1 &1 M@ & T~ HAT
(c) Most fatiguing to the eye / a7l &1 Fa¥1 31fF 2w
(d) Least fatiguing to the eye/ a1l &1 &7 |§ W IHT <7

(a) Compare MPEG1, MPEG2 and MPEG 3
MPEG1, MPEG2 siR MPEG 3@ g o |
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(b) Write down the features of LCE projector.
T § ¥ oy 3 faemary forfag |

Q.3 (a) Explain the five advantage of multimedia.
ACHIRETT & Uia o FHsTeli—
(b) Explain LCD and CCTV ?
TAAIET &R ARSI Tste |

Q4 (a) Explain modulation techniques of TV technology.
e digafiat & digea adial @ ST o |
(b) Difference between CD and DVD.
A3 3R € $ 9 iR a1 |

Q.5 (a) Write short note on: <rg feueft fo
(i) serrated Aspect ratio/ ugq U
(ii) Scanning/ & fiT
(iii) Vertical resolution A/ ®rde= Haea

(b) Write down the Movie maker and Nero wave.
41 fmtar ofiv IR @ forat |

Q.6 (a) Explain the Monochrome TV receiver?
A fedr Refrar Fwmai |
(b) Explain HD DVD.

wemat HD DVD?

Q.7 (a) Describe the construction of a carbon microphone with help of a neat sketch. Also explain its functions
and characteristic
UH A% DHd Bl A8 | UH HE AHIHE & w70t &7 qof gqa sramar e sl iR
faeryar @ @ W |

(b) Explain the moving coil cone type loud speaker with the help of diagram.
NG 1 WERIAT ¥ A FEell ¥ THR DI oAlSs W TSR |

Q.8 (a) Draw the diagram of superhetrodyne radio receiver and explain its working.
AT RefIaR &1 IR 37 &R TS BT B AT DN |
(b) Which type of microphone is used in PA system and why?
Hiv Rved § {9 YR @ AISHIB BT YANT fhar ar 2 | 3R @l
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Q.1 Multiple choice Question / axgf~s ue [2x5=10]
(1 The intermediate frequency in a standard AM receiver is —

TP q1e AM Refiar & Aegad! 8—

(a) 455 Hz (b) 455 kHz

(c) 4.55 MHz (d) None of the above / s &1 315 &I
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(i)

In order for a light ray to propagate along a fiber-optic cable, what must the relationship be

between the angle of incidence and the critical angle-

TE THTeT 0T & oy Brsar—3iified daa & AT YaR &4 & {7, g1 & B0 3R Aol IV & 19 a1 HaeT

BT AT
(a) ei > ec (b) 9i < ec
(c) B;= 6, (d) None of the above / s & @15 =&l
(iii) An AM demodulator can be implemented with a linear multiplier followed by a filter.
Th YUH SHIgIER B Uh R T & w1l oA fpAr o Hebar 87 3R SHS 917 ———
(a) low-pass / &= ur (b) high-pass / &% =
(c) band-pass// ¥ [ (d) band-stop / 3 wm
(iv) Light may be propagated along a fiber-optic cable in which of the following modes —

(v)

TBTeT BT BIsaR—3Aficd dHad & A frferRaa # & fbd Ars § varlRa fhar S Ao 8-
(a) Multimode step index/ #eie wu sea=

(b) Single-mode step index / RiTer— Are wu sea

(c) Multimode graded index / 7S sofiag s

(d) All of the above / s @ft

In AM, the carrier is changed by a modulating signal. What parameter of the carrier is

changed -

Q.2

Q.3

Q4

Q.5

Q.6

AM #, aEs @1 te AlElT Rd g’ 9ea ar S g
(@) Amplitude / s (b) Frequency / smgfea
(c) Pulse width / vea drerg (d) Phase / ==or

(a) Difference between TDMA, FDMA, CDMA.
CDMA, TDMA, FDMA & dr= ofdr fafag |
(b) Explain PRF and pulse width.

PRF 3R 91 dierE &I 99ssy |

(a) What is handoff? Explain hand off mechanism.

STIH AT 27 TSIATH B ARAT BT |

(b) Write short note on:-

g fewofy forRag—

(i) Apogee / amarsit (i) Foot print / e fiie (iii) LEO / @igan

(a) What is dispersion? Explain model dispersion.

BT R 87 AISel helld & AT BT |

(b) Discuss basic principle of cellular communication in brief.
JeY ¥ AGgeR B FAR & gel RiEead W ==t B |

(a) Explain block diagram of satellite earth station.
IUYE YAl WA S D NG BT ARAT DI |

(b) Write down the working principle of RADAR.
RADAR @& a1 fagia a1 fafay |

(a) Write down the different types of fiber with their refractive index.
A= TeR & Y B ST faqdd qaAdS B A fafEy |

(b) Explain PPI with neat diagram.
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ATH RGP A1 qidiarns w9emeai |

Q.7 (a) Write down the principle of optical fiber communication.
Jffftedhel wIgaR HaR & Rigia &7 forgt |

(b) Write down the working principle of PIN photodiode.
o wIefesie & &R & Rieaid a1 fora |

Q.8 What is Bluetooth technology? Write down some of its application.
e HrEnfiret & 2° THe 8 SrpanT fafay |
(b) Write short note / Are fafag—
(i) OTDR / siERIRIR
(ii) DTH / Srg=
(iii) MTI / wiciemg
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Q1 Multiple choice Question / axjfs w1 [2x5=10]
0] A computer assisted method for recording and analyzing of existing or hypothetical systemis -
HioET a1 TEndfes Rved & RIS MR fawrever & oy ue drgex RS a¥ieT 2—
(a) Data transmission / Ser1 gidfie (b) Data flow/ Ser1 weit
(c) Data capture/ <1 =R (d) Data processing/ st &=R
(i) The brain of the computer system is-
HFYEY YOI BT AR 8—
(@) ALU /vgez, (b) Memory / sfa
(c) CPU/ <irdry (d) Control unit / f==or

(iii) What difference does the 5 generation computer have from the another generation
5 Ul & Frgex # gl U 9 R AR 8-
(@) Technological advancement / d@&ra S=fT
(b) Scientific code / d=nfa wfgar
(c) Object oriented program/ sffssiae siRucs R
(d) All of these / SwRraa wft

(iv) Which Of The Following Languages Is More Suited To A Structural Program?
frfafad % 4 & A 9 U6 ARTHEs BRIEH & foy 1fde Sugad B —
(a) PL/1 / drget 4
(b) FORTRAN / wre+
(c) BASIC / 9t
(d) PASCAL / urenat

(v) The binary system use power of -
I R SuaT &1 wifed §—
(a)3 (b) 2
(©)5 (d)8
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Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q38

(a) What do you mean by key words? Write any five key words of ‘C’
JATIPT I T&! § R Aaed 57 ‘C'd fH A " e e ford |

(b) Write the name of any five header file with their uses.

R Y Ufa TR WIgel BT A S SUANT B A ford |

(a) Explain structure of C program in brief.
A HRIEHA B G DI G § AT |

(b) Write characteristics of a good program.
T a0 HTHT B faRivdd faRkag |

(a) Explain the working of compiler assembler and interpreter.

FHUGER IRITeR MR THIRAT FHT B FHY |

(b) Differentiate between top down and bottom up programming techniques. Also explain each.
FJR F AR A PR deel & 9 3R, Udd B Al IHsIsU |

(a) Define/ farfRa aifsrg—

i) Expression/ wrq

ii) Statements/ ®er

(b) Write the significance of preprocessor directives and data types in' C'.
MoRRR del 8k <1 gaR in' C & 72 fafeay |

(a) What is increment and decrement operator? Explain ++A and A++.
9 gig SR PAI 3iTUReR AT 87 WRIPRY ++ T 3R T ++ |

(b) Describe exit (), size of ().

exit (), size of () &1 aviT B |

(@) What is loop? Explain Iterative loop.

U T 2?7 ARATHS TS BT AT BN |

(b) What do you mean by branching statements? How it is different from unconditional branching?
AR FAA I AHT FIT AT 8?7 I8 [ o Arar A DY AAT 5—

(a) Write a program in 'C' to create a table of five using any loop.

el off U BT ST IxS Ui B aiferer 9= @ forg 'C'H v W faRay |
(b) Define with suitable examples-

ITYHR IR0 & A1 IR BifeT—

(i) Break- continue statement/ faRm— wer SRy <&

(ii) Go to statement/ sam W &Y

(iii) Switch case statement/ Raa aw wedie
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